L

fiva

LM

inear Ball Bushing

LMOOP

LMOAJ

o

D1
dr

LMz !
EIOET B (OP) RBRABETR (A)) AEEE

AREE  ONOE ARER SO ARER H0E L s

LM4uU 4 - - - - 88 108 4 3

LM5UU 4 - - - - 167 | 206 5 8

LMeUU 4 = = LM 6UUAJ 4 200 260 6

LM8SUU 4 - - LM 8SUUAJ 4 170 220 8

LM8UU 4 - - LM 8UUAJ 4 260 400 8

LM10UU 4 - - LM10UUAJ 4 370 540 10 _8

LM12UU 4 LM12UUOP 3 LM12UUAJ 4 410 590 12

LM13UU 4 LM13UUOP 3 LM13UUAJ 4 500 770 13

LM16UU B LM16UUOP 4 LM16UUAJ 5 770 1170 16

LM20UU 5 LM20UUOP 4 LM20UUAJ 5 860 1370 20

LM25UU 6 LM25UUOP B LM25UUAJ 6 980 1560 25 _18)

LM30UU 6 LM30UUOP 5 LM30UUAJ 6 1560 2740 30

LM35UU 6 LM35UUOP B LM35UUAJ 6 1660 3130 &5

LM40UU 6 LM40UUOP 5 LM40UUAJ 6 2150 4010 40 _120

LM50UU 6 LM50UUOP B LM50UUAJ 6 3820 7930 50

LM60OUU 6 LM60UUOP B LM60UUAJ 6 4700 9990 60 _1é)

N = 0.102kg

AR AR EREES XA BERE,

=



WON ST CO., LTD. WUN

B mm
FER (mm) T
T . Bk

RFLE RFAE rnE W hwls  ABER
(mm)  (um) ~ (om) ~ (om) ~ (mom) ~ (mm) (um)

8 | 8|12 o8 - | - | - - | - | - | - 19| -3 | Lmauu
10 | 215 | 520102 1196 - | - | - 4 | -3 | LM5UU
12 19 13.5 11 15| 1 - | - | 8 | -5 | LmewU
15 | 2 1.5 14 143 1 | = | = | 11 | -5 | Lmesw
15 24 17.5 11 143 | 1 - | - | 16 | -5 | Lm8WU
19 20 | o 22| g0 18|18 1 - | - |30 -5 Lmouw
21 ol 30 702 23 13 20 | 15 | 8 |80 |315| -5 | LMI2uU
23 | “13 | 32 23 13 | 22 |15 9 |80 43 | -7  LMmI3UU
28 37 26.5 16 | 27 | 15 | 11 | 80" | 69 | -7 | LMi6UU
32 42 30.5 16 305 1.5 | 11 | 60° | 87 | -9 | LM20UU
40 | _ 0| 59 a1 185| 38 | 2 | 12 | 50° | 220 | -9 | LM25UU
45 64 44.5 185 43 | 25 | 15 | 50° | 250 | -9 | LM30UU
52 70 0| 49.5 o| 21 | 49 | 25 | 17 | 50° | 390 | =13 | LM35UU
60 _18 80 |~0.3|605/03| 21| 57 | 3 | 20 50 585 -13 | LM40UU
80 100 74 26 765 3 | 25 | 50° | 1580  —13 | LM50UU
90 | 9 | 110 85 315 /865 3 | 30 | 50° | 2000 -16 | LM60UU
X [EERAERE IN = 0.102kgf

e — Y, -



